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	 1	 M = {2, 3, 5}
		  n(M) = 3
		  Jawapan/Answer: C
	 2	 Jawapan/Answer: C
	 3	 Jawapan/Answer: B
	 4	 S = {14, 23, 32, 41}
		  T = {23, 32, x, 14}
		  ∴x = 41
		  Jawapan/Answer: C
	 5	 Bilangan unsur = 4
		  Number of elements = 4
		  Bilangan subset yang mungkin
		  Possible number of subsets
		  = 24

		  = 16
		  Jawapan/Answer: D
	 6	 ξ = {1, 2, 3, 4, 5, 6, 7, 8, 9}
		  Z = {1, 2, 5}
		  Jawapan/Answer: A
	 7	 ξ = {1, 2, 3, 4, 6, 7}
		  Y = {1, 2, 3, 6}
		  Y' = {4, 7}
		  Jawapan/Answer: A
	 8	 ξ = {1, 2, 3, ..., 20}
		  n(ξ) = 20
		  A = {1, 2, 4, 5, 10, 20}
		  n(A) = 6
		  n(A') = 20 – 6 = 14
		  Jawapan/Answer: C
	 9	 n(P) = 6, n(Q) = 3, 
		  n(R) = 4, n(R') = 6
		  Jawapan/Answer: D
	10	 Jawapan/Answer: A
	11	 Jawapan/Answer: C

Bahagian B

	 1	 (a)	 A ⊄ B	
		  (b)	 M ⊂ N  

(c)	 S ⊄ T  	
(d)	 X ⊄ Y  

	 2	 (a) 
 

 

 

	 3	 (a)	 ✓	
		  (b)	 ✗

		  (c)	 ✗	
		  (d)	 3

	 4	 (a)	 Set kosong/Empty set
(b)	 Bukan set kosong/Not an empty set 
(c)	 Set kosong/Empty set 
(d)	 Bukan set kosong/Not an empty set

Bahagian C

	 1	 (a)	 (i)	 n(F) = 7
	 (ii)	 G = {–2, –1, 0, 1, 2, 3}
		   n(G) = 6
	 (iii)	 n(H) = 21
(b)	 ξ = {2, 3, 4, 5, 6, 7, 8}
	 U = {2, 4, 6, 8}
	 V = {3, 5, 7}
	 W = {2, 4, 6, 8} 
	 X = {2, 3, 5, 7}
	 (i)	 U' = V
	 (ii)	 U = W
	 (iii) 	V ⊂ X 

	 (c)	 (i)	 M = {3, 6, 9}	
			   N = {1, 4, 9}

	 (ii) 

 

{Faktor bagi 8}
{Factors of 8}

{1, 2, 4, 8}

{s, t, a, r, e}{2, 4, 8}

{s, t, r, e, a, m}

{m, a, s, t, e, r}{t, e, a, r, s}
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	 2	 (a)	 { }, {t}, {i}, {g}, {a}, {t, i}, {t, g}, {t, a}, {i, g}, 
{i, a}, {g, a}, {t, i, g}, {t, i, a}, {t, g, a}, {i, g, a}, 
{t, i, g, a} 

(b)	 X = {32, 33, 34, 35, 36, 37, 38, 39}
	 X' = {30, 31, 40} 

	 (c)  	(i)	 ξ = {0, 1, 3, 4, 5, 7, 8, 9}
		  (ii) 	E = {1, 3, 4, 7}			 

	 (iii)	 F = {0, 3, 8} 

	 (d)	 (i) 

 

 

	 (ii)	 n(A') = 4
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